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Set Name: || SET 22
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Exam Shift: || 1

Langauge: || English




- In a certain language TRIANGLE 1s written as VIKCPING. How RECTANGLE
Question: : :
will be written
A TGEUCPING
B TGEVCPKNG
C: TGEVCPING
D GTEVCPING
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d +
The next figure 1s
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The missing term of the series 13

Al CH, B, Gll,

113

|HH

114
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A.B. C.D and E are standing in row. 'A’' 15 between 'B' and D', E 1s not at the |
Passage: starting of row. 'C' 1s just before D.
Study above statement and answer the question
Question: Who 15 at the middle of the row.
A D
B C
C: A
D B
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A. B. C. D and E are standing in row. 'A' is between 'B' and 'D'. E is not at the |
Passage: starting of row. 'C' 1s just before D.
Study above statement and answer the question
Question’ Who 1s at the starting of the row.
A C
B D
C: A
D B
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A. B, C.D and E are standing in row. 'A' 15 between B’ and D'. E 1s not at the |
Passage: starting of row. 'C' 15 just before D.
Study above statement and answer the question
Question 'B' 15 standing mn between
A 'E' and D'
B ‘A’ and 'E’
C D' and 'C’
D 'A' and 'C’
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The number of tnangles i above figure 15

B ‘ 10 |
C 18
| _ Ip E
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Which of the following will complete the adjoining figure
’ A
\'H-.?____: .--":I.-
. vd *
Question: | \
A
II|
-}
=y
E é{
C: ﬁ
) g
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Section: ‘GEI*EEE.AL TEST

Ttemn No: ‘ 24

Question ID: ‘6541’{134
Question Type: ‘M{.‘Q

If DOG=26.FLY =43
(Juestion
them what 1z the code for '"BIRDY
A ‘ 60
B 32
c. ‘ 33
D ‘ 24
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Question: Which 1s the best diagram. showing the relation among Father. Mother and famuly.

E @
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. In a row of 35 student. Ramesh is 24 from starting. Two student from last went
Question : 25 2 3
away. What 1s the position of Ramesh trom last row?
B ] ﬂth
C: 1_-|_Ih
D 1t
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Question: TO .T ?
A .‘
—
B .‘
—
C: ‘.
q:—._
T
——




Secton. ‘ GEMNERAL TEST

Item INo: ‘ 45

Question I ‘ﬁﬁd'ﬂ]dﬁ
Question Type: ‘MC'Q

CQuestion: ‘ Samsung : mobile :: Action: ?
A I Cricket |
B ‘ Shoes

C: ‘ Fighter

D (Movie ]
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. Pointing a man in a photograph. Karina Said. 'His mother is the only daughter of
(Question : R
my mother." How i1s Karina related to the man of photograph.
A Mother
B Sister
C: Wite
D Daughter
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Question: Which ot the tollowing figure 15 odd one among the all.

: 4

@Reasoningbybasantsir



Question’ The mirror image of along the dotted line 1s
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Cieston:

The next figure is
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Cruestion: Water umage of 15
L
A fa
vV
L
Vv
B L
L
Fa
FAN
C: L]
' L
¥
L
\vi
° A
L
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Ask your Question
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